
Installation Guide for 
Sheet Metal Extension Bracket

Thank you for purchasing a Grandview projection screen.

Before use, please read instructions carefully. 

After installation, store instructions for future reference.

To assure safety, please make sure the wall to be installed on 

can bear a weight twice heavy as the weight of the screen.

Dimensions

Caution: 

Distribution:
PureLink GmbH Available from B2B Online Portal

http://oneav.eu


Installation Kit

Horizontal & vertical 
bar joint(2 sets)

Inclined bar(2pcs) 5x40mm self-tapping screws 
and swell plastic button(4sets)

M5x38mm screws(2pcs) M5x42mm screws(2pcs)

M5x30mm screw
M6x30mm screw
(4pcs of each)

M5 anti-skid nut and gasket
M6 anti-skid nut and gasket
(4pcs of each)

Installation Guide

1. Take out the horizontal & vertical bar joint first and make a right angle, 
    refer to diagram 1.

2. Install the M5x42mm screws to the vertical bar, refer to diagram 2.

3. No need to install M5x38mm screws first, refer to diagram 3.

Diagram 1 Diagram 2 Diagram 3

5 Gasket

M5x42mm 
Screw

5 Gasket

M5x38mm 
Screw

Installation Guide

4. Install the extension bracket to the wall and make sure it is firm enough, refer
    to diagram 4 left side.
    Install the M5x38mm screw on the horizontal bar, fasten all the screws, refer 
    to diagram 4 right side.

Wall
5 Gasket

M5x38mm 
Screw

5x40mm self-tapping screw
and swell plastic button

After installing the vertical 
bar to the wall fasten the 
screw on the horizontal bar.

Diagram 4

5. Install the installation bracket to the extension bracket

Wall

Screw

Gaskets

Anti-skid nut

Installation bracket
(Not in the same package)

Diagram 5

5 Gasket(6pcs)

Distribution:
PureLink GmbH Available from B2B Online Portal

http://oneav.eu

